572019 (1) (E1)

If x + 9, x 6, 4 arc first three elements Of
GP then x s
(A) 0,16
(C) 0,0

(B) 16,16

(D) -16,0

Which is the correct reason for the outbreak

for the situation of cold war 7

(A} Defeat of axis force in the Il World
War

(B) Emcrgenta ol USA and USSR as nval

Powers
(C)

Invision on Peal Harbour by Japan
(D)

Bombing on Hiroshima and Napasaki
by USA

Ifx _

Gp 2%, X+ 3 are first three elements of
then i<

(A)

{ L : EB.} "H'ra

= (D) 0

!iﬂr}'ﬂn 1 R
_ S historic grand 1omb is located

M wWhich d:
1 . . &
distrigg which is associated with

Shekh Chi)j »
(A) MNunh

(B) Hansi
(C) KUI‘LIkShcl.ra

(D) Palwal
Who is the presem CEO of PepsiCo ?
(A} Indra Nooyi

(B) Ramon Laguarta

(C) Shantanu Narayen

(D} None of the above

By which Amendment to the Constitution the
right to property was removed from the list
of Fundamental Rights 7
(A) 44" (By, 74*
(C) 794 (D) 46"

0
Ed
[

1.

| (R AR R0 0 R W G R

4Tﬁmauﬂi‘ﬁﬂm?fhﬂ'ﬂ

qﬁl-l-gpﬂ"ﬁ'

%:;ﬁflﬁ B) 16,16
{{:CJ 0.0 ©). -6
o . 5 Rty 35 S 7
Fa-me !

() 7R v g o = T

(B) oFri) w3 w9 F SR 3
Hifaad §9 &1 391

(C) =TI BT e T TS

(D) T g FEdfm S AT 9
Erei]

afz x—2, x, x + 3 U Al & e i a9
BT x

(A) 6 BY Jo
(C) —6 (D) 0
e =1 Uierte= = 55an ey fren @
2, w a7
(A) & (B) =Te
(C) F%3m (D) Yeraw
uf= (PepsiCo) % T8 C
. E ?
(A 7 OHHZE?
(B) ‘tHa @i
(C) ey ey
(D) 370 A A 71 39
Ny e
mﬁmmﬁp@ﬁmﬁmwm?
(A) 443 (B) 745
(c) 723 (D) 463
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1L

Who won the women’s single tennis title at
the 2019 Wimbledon Championships 1

(A)
(B)
(C)
(D)

Scerena Williams
Vinus Williams
Petra Kvitova

Simona Halep

Langmuir 1sotherms holds at low pressure
but fails at

(A)
(B)
()
(D)

Low temperature
Intermediate pressure
High pressure

MNone of these

Chaudhary Devilal Herbal Park 1s situated
in the district of
(A) Rewun
(C) Mewat

(3 Tamipat

(D) Yamunuanaguar

Name of the lake which is famous for
tourism in Karnal.
(A} Barkhal lake
(C} Sultanpur lake

(B) Talivar lake
(D) Karna lake

Complele the senes.
19, 23, 26, 30, 33, ?
(A) 3l
(C) 37

(B) 39
(D) 35

[f each of the letters in the English alphabet
15 assigned odd numerical value beginning
A=1,B=3andsoon. what will be the total
value of the letters of the word INDIAN ?
() 9o
(D) 88

(A) 86
(C) 8Y

1k

11.

52019 (1) (K1)
2019 vz st i feen e 2679
iz fpa sften 7
(A FH fEieT
(B) =T FAfege
(C) 9= fFaran
(D) T ey
S AEAT e 2 T SAaeE e e
— M AE AR |
(A =0 AT
(B) Wemad] 2
(C) ===
(D) 58 | =13 F8

=t e vAa i e e R
(A) =Tl () T
(C} HaE (D) TR

FETE O o v & o mieg =5 =1 0
qe 7

(A) FFEA A (B) Tferm Hie
(C) GrmgudE (D) 0 HI
s i I |

19, 23, 26, 30, 33, 7

(A) 31 (B) 39

(C) 37 (D) 35

il aufaren Fuas i A= 1, B =3
3 9% 1R F 3% F1 Reny gemerE e
fem AT &, 7758 INDIAN 3 3561 %1 471 Hod
E i L
(A) B6O
(C) 89

() 96
(D) B8
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-
:H'I

16.

L.

18.

RRALE S R

A s )
Y Sister,

. 3 ; '
S Fathyer I 5 B's mother, D 15

\i . 15 : -

{ATE].HEEI oD 3 S mother, thep how i

{ } Gn“dmﬂ-lht

© rangd c!aught er

b -“'Eh'[E

) Gram!fmhm-
Wha 5
Mas p
the sapu); Stindy
o~ Pr:lll :Lunu.'hi g ve rhl?[:wr;-:;g:ruf
Wloag y .

(R) F‘nhr; " Sutellive 1 aunch Vehicle
Urtyee

(Cy Polar Objeer 1; aunch Vehicle

"thicle

ra=|' 1.
0 + Whete ne N thap An ic

() \l

: \ /
(© [I 0 oy |10
| n_J no1
Manufacturing unit of Hero Honda

Motoreyele is located in which district of
Haryana ?

(A) Faridabad
(B) Sirsa
(C) Palwal
(D) Rewarl

In Python comments slartwith

sy mbaol.

&
© s o 1
The number of Municipal Corporation in
H:]r}';nu was ) }]l
{ic; 10 (- N

13,

14.

15.

16,

17.

1.

_at,coft D CARTE

ﬁﬂ‘-ﬁ 7 A, D8 a3 gaf B 7

£ DA
(A) T
(B) el
) ¥
(D) A&

pSLV F1 7T THETE &, 9 ISRO F 39U

T YE R
(A) Payload of Satellite Launch Vehicle
(B} Polur Surface object Luunch Vehicle

(C1 Polar Satzllite Launch Vehicle
(D) ITCA A 8 w18 TE

@[} Detueno

\
{,1}[] o b 1 0O
0 1) e 1

1 Q)
(C)

[1 n, (D) [}‘ ‘:]
B i e "
R fragy ; SH S
{A) Wﬁm
(B) fam
(€} Toag
(D) g
KIEECE g -
(A) mﬁmﬂﬂﬁﬁmtl
() § 9 &
+fez O} 4
H'TT-'!T:-'H‘;,;ﬁ

A 7m
NI R g
() 10 By 4
(D) ¢
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19.

20,

22,

24.

23,

An ancient temple Bhadrakali is situated in
the district of

(A) Mewat
(C) Rewan

(B) Ambala
(D) Kurukshetra

In which sorting algarithm, every adjacent
pair is compared and swapped if they are
not in the right order ?

(A) Selection Sort
(C) Bubble Sort

(B) Linear Sort
(D) Insertion Sort

Which of the following Environmental
organization has luunched the “clean seas™
campingn 7

(A) Sen Weh

(B UN Environment

(C) Ocecan conservancy

(D) Blue venmures

First meter pauge commercial train ran on
which route 7

{A) Delhi — Rewan

(B) Kurukshetra — Jeend

(C) Delhi — Rohatak

(D) Delhi - Panipat

The city was founded by Firoz Shah Tughlag
(A) Gurugram (B) Hisar
(C) Biwani (D) Panipat

Vulucni‘(ﬁn]]xh(p u]]x.j-{f'!i'.)"fl“

(A) 4p (B) 0

(C) 3p (D) -2p

In a certain language, *sun shines brightly’
15 written as ‘ba lo sul’, *houses are hrightly
lit' as ‘kado ula ari ba' und ‘light comes
fram sun’ us *dopi kup o nro’. what code-
words ure written for ‘sun’ and ‘brightly” 7

(A) ba, sul (B) ba,lo
(C) To, ba (D) sul, lo

19.

20.

(=]
=

23

23.

DHLVLF LEJ \enr

(A} i (B) TATE

(C) tard (D) To&H
?ﬁmﬁnaﬁaﬁm?ﬁmﬁl%ﬂﬁﬂﬁ
FOETRR 7

(A} FAT W (B) tfas war
(C) IFa1 wFN (D) e W

Freafafoa & & Frm == @ 3 ars
vz shmm e e ?
(A) TE e

gy it e =IOEE o FE o T a9
el ?
(A) g -t

(B) FEem - Sffz

(C) TZFi - ters

(D) =& - e

TR e e & @ T ma o
(A) TEaT (B) femm
(C) P (D) 9rTa
B+1)e (o))
F RN 7

(A) 4p (B) D
(C) 3P (D) —2p

U ﬁf’ﬁﬂ}ﬂﬂ " 'sun shines brightly’ H
'ba lo sul' % ®9 ¥ foran 1@ 2, houses are
brightly lit'" 1 *kada ula ari ba' F&7H fom
S # 3 light comes from sun® 1 ‘dopi
kuplonro' & 898 fe@ sman 2, #3773 e
'sun’ S ‘brightly’ & T fd@ o d o

{A) ba, sul {(B) ba, lo

(C) lo.ba (D) sul, lo
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29,

E:igm%g} . vards g gy In the picture, Sarita
father Is ‘; lhe.. Other of Neha, whose
he g i “90". Hoy Is Sarita related to
Birlin the Picture n
E’ég other .f B} Cousin
. ous
ung (D} None of these

'CI'IE[]L' I r e

clays i;,::; Ray ”hsﬂ‘-’ﬂlnn', is a Magship-
fﬁlln'l.viné . EHLL;I?SEDPE of which of the
(A) NAgp - UBency

(B)

Which of 1he

Veluele (Rocke
Buhuby|i o

(A) GSLy Mk

(3 Seram Jep
(C) RLV-Ty

(D) None Of the aboye

l'ullnwing sitellire Jaunch
b of ISRO nick numed »
[

Engine -

Structure of NWCO
(A) S¢juare planar
(B) Trigonal planar
(C) Tetrahedral

(D) Trigonal pyramidal

}4. 15

[n which year did Columbus reached e
[sland of West Indies ?

(B) 1556
(A) 1492
(C) 1520 (D) 1498

The Ampere-Maxwells equation is given
e
by

Q
(A) § EdA=—

=)
i
(B] #1 Edl — ]-I'HI':' + "I'H ED dt
~dog

(© $Ed=—3"

{D} (;'!- H.dﬁ =0

26.

A f

29,

30,

31,

(A R

71 ¢ e, Frefafad 3 @
jl;]ffﬁ ET% ;T i St Y g R 7
(A) NASA

(BY Roscosmos

(Cy ISRO )

D) T R 7

ISRO 3708 W& 4 (e ) & | forerepy
I FEEe § 7

(A) GSLV Mk 11

(B) W 52 &5 -

(C) RLV-TD
(D) Iy0a T & 3
NI(CO), Fi it 3
(A) M g
B) P sy
©) T
(D) ﬁ'ﬁﬁ?ﬁﬂﬁzmm
%Hanﬁaw 3 . g
A) 1499 (B) 1556
€ 1529 |
D) 1498
W-ﬁ%* :
! %%{“‘Fﬁmﬁmm
g
(B)
ri, B.T." = l..l,jl,_. + ""I] En EEJL
: dt
© @5 Eq| '-.:.Elﬂf__
dr
(D) (.[) H.dﬂ =)
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32,

35.

36.

37.

What is the mechanical energy E of the
lincar oscillator ? Given initially, the
Block's position is x = 11 cm, speed is
v =0 and spring constant k = 65 Nm™',
(AY (.66 (B) 0.111]

(Cy 0.791J (D) 0.39)

The C# or Visual Basic compiler converts
vour code into a special language named

(A) MSSL
(C) MISL

(B) MMSIL
(D} MSIL

In a certain code language, *pen pencil’ is
wrilten as ‘87", "eraser sharpener’ is written
as "@#" and ‘pencil eraser’ is written as
'S@", then whalt is the code for ‘pen’ ?

(A) # (B) ?

(Cy @ (D) %

Choose the woard which is least like other
words in the group.

(A) Carrot (B) Ginger
(C) Tomato (D) Potato
Complete the series.

1,3,.7,13, 21,17

(A) 27 (B) 33
(E]) 3] (D) 29

If Ais a3 x 3 non singular matrix and
|A] =3 then [(2A) '] =

| ]
(A) E (B) ~a
(©) le' (B Novic of these

7.

32,

4.

33,

36,

37,

5/2019 (1) (E1)
Yera 2 ) it S E 7 & 7 R
ﬁﬁf’:’ﬁ?ﬂﬁ’ffﬁlﬁu=llcm%.ﬂﬁw=ﬂm
T TR k=65 Nm™' ® |
(A) 0.66] (B) 0.11]
(C) 0.79] (D) 0.391

Ci# a7 T70 STTITOA FHA5E 3TH &2 T

v fag vir 8 ofafda &
FEAT &

(A) MSSL (B) MMSL.
(C) MISL (D) MSIL

uF f3f7ea Ffem 7, ‘pen pencil’ F1 87 &
w4 8 Haal | ferar =i ®, ‘eraser sharpencer’
@ % w9 4 fam Fmar @ it pencil
eraser’ @1 '$@' & w9 4 [&@ s T,

‘pen’ T fu FZ e T 2 7
(A) # (B) 7
) @ (D) $
Fr=fefas 1 @ 7 w22 i ) gae & T
Wil H g8 9 e R

(A) e (B) 3I==
(C) X (D)
el g Hifir |

T, IR

(A) 27 (B) 13
{C) 31 (D) 29

Tfe ATE 3 3 e (nop singular) 3Tl3{ﬁ'?
M |A =3, T |2A))| =

(A) (B)

24

(D) ¥ A %) 7

|- =

(C
]1

-2

D
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as.

0.

41,

42.

43,

44.

If *Orange’ is called *Butter’, ‘Butter’ is
called 'S_nnp'. "‘Soup” is called Ink’, ‘Ink’
1s called ‘Honey' and ‘Honey' is called
‘Orange’, which of the following is used
for washing clothes ?

(A) Honey

(C) Soap

(B) Ink
(D) Butter

Which functions allow us o access a file in

A non-sequential or random mode »
(A} seek() und tell()

(B) w ey and read()
(C) write( ) aned wrilelines()
(D) read() ang readline()

Who was the first Chicf Minister of Haryuy
(A) Bhagwat Daval Sharma

(B) Bansilal

(C) Devilal

(D) Rao Virendar Singh

Sacchar formula wus introduced i which

year ?

(A) 1945 (B) 1949

(C) 1948 (D} 1946

Which of the [ollowing is/are the Bovernment
scheme (s) for the Promaotion of spors i
Haryana *

(A) Provide training
(B) Build the Sports stacium

(C) Grant for Sports institutes
(D} All of the above

Whatis the strength of
Haryana high court 9
(A} 68
(C) 48

judges in Punjah and

(B) 38
(D) 5§

Which of the dunce s mainly
the marriage ceremony 7
(A) Ghodi dance

(B) Gangor puja dance

(C) Gugga dance

() Dhamnal dance

periormed op

38,

39,

40,

41,

42,

43,

44,

MR
afe el A F I, gy
FE AR, T W R F A 5,
TEg w A e s @, Frefefis

§&
fermr 3w g Ui % T fr s g
(A) TR (B) wTe

FH-H Rl T T - 91 Ay
WL H W TI5e de UEa- o 3R 2 s
(A) seek() and tell()

(BY write() and read()

(C) write() and writelines()

(D) read() and readline()

EIEIT <5 See] G #) 4 7

(A) MTTEd =T T

(B) =dEm

(C) =i

(D) = fatz G

R o 2 g ey vy e 7
{A) 1945 (B) 1949

(C) 1948 (D) 1946

TN & el 3 e 3 R e

©) a8 :g‘; :

TR T 3 oy -,~
A) & - W3 er: B w2
(B) iy

©

(D) ﬁmﬁﬂ’fﬂi
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43.

46,

47.

48.

49,

50.

i .
In Python which data type s unordered and
mutable ?

(A)
(C) Mapping

Sets (B) Tuples

(D) Sequence

The volume of a Parallelopiped whose
co-terminal edges are the veclors
a=2i+j-3kb=i+j+2kud c=1-2j+ 3k
15

(A 32 cubic units
(C)

(B) 22 cubic units
(18]}

42 cubic units 12 cubic units

I current lonp carrying acurrent 1, with N
turns and arca enclosed by the cumrent is A,

then the magnetic dipole moment is given
by

N !
B =2 (B} m=—
T IA NA
(€) m=NIA g

NI

Choose the pair of words that shows the
same relationship as given by the pair,

Cells : Cytology : :

{A) Diseases : Physiology
(B) Tissues : Morphology
(C) Insects : Entomology
(D) Worms : Ornithology

When was Seema Aayog formed to decide
upon separation of Punjab and Haryana ?
(A) May 1975 (B) January 1951
(C) December 1941 (D) October 1965

If the data awribute of the class and the
method attribule are in same SCOpe, then
the duta attribute will be given

(A) equal priority (B) hgher |'.-r'|mlil:.*
(C) no priority (D) lower prionity

-.

45,

d6.

47.

49,

a0,

52009 (1) Ley)
qwed 3 F-T atEE gER A M
it ¢ 7

(A) EZW
(C) =T

(B) &I

(D) foFas

T A s 7 s w= o
HE i e F A e a=2i+ - 3k
B=i+j+kafrc=i-2-%k2?

(A) RTgFEEl  (B) 22 vA S
(C) Ryl (D) 12 TAEE

ufz o Frp um oy, Frm 1 FI NI A
w7 & i forega g e fran n A AR,

at gafTa Ty vfa fees g A 9 2 7
(A) m=-E (B) m=$

A
(C) m=NIA (D) m=
% W6z T T =1 feg o g g =i
weu i fEm #
%:W‘ﬁm::
(A} T : THRETH
(B) FaF 1 ITHIeTEIH
(C) ¥ Frzfamm
(D) T : vl
w11 ST 1 S w4 AT U1, T I 0
T = atem w0 1 Bolg fem e 7
(A) %1975 (B) satl 1951
(C) Tt 1941 (D) TS 1963

afg =1 & = ez wih il e
U ST A &, 71 5 WIRE

@1 fau sk

(A) FA= wufEEa  (B) 3= wrafhewm
(C) FEwiE = (D) e i

D
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51,

53.

54.

55.

Who was the first Speaker of Haryana
Legislative Assembly ?

(A) Kuldeep Sharma

(B) Manphool Singh

(C) Shanno Dewvi

(D) Eshwar Singh

Choose the pair of words that shows the
same relationship as given by the pair.
Scalp : Hair : -

(A) Home : Caule

(B) Fur: Cap

(C) Earth : Grass

(D) Nail : Nailpolish

Where is the Ilaryana Public Service
Commission located ?

(A) Sonipat
(C) Panchkula

(B) Gurugram
(D) Panipat

Which one of the following is not a database
management system 7
(A} PostgreSQL

(C) dBASE

(BY FoxPro
(D) SAK

Lala Lajpat Rai actively participated in the
Swadeshi andolan from which districy 7
(A) Rohtak

(C)

(B) Sonipar

Hisar (D) Panipat

On which of the following subject bty
Union and State Government can make
laws 7

(A) Union list subject
(B) Residuary subject
(C) Concurrent list subject

(D) State list subject

'lni

51, fcaro T T e E T 1
(A) e T
(B) T fa
(D) Fr fim
- ﬂﬁ@ﬁﬁﬁquwmm
ey ) Ram ¥
zedC ARG IS (PR
(A) T8 : 9
(B) T : &
(C) it : =T
(D) ATG : ATGATTHeT
53. it e Ha s R fRm R 7
(A) |rftya (B) TEamH
(C) vaen (D) 9rfiva
54, ﬁmfaﬁaﬁﬁﬁaﬁq-mqmmﬁm
TR TE 7
(A) PostgreSQL (B) FoxPro
(C) dBASE (D) SAK
5. RN SR T 3 e st "
ﬁﬂﬁﬂ‘qmﬁmﬁmm? %
(A) T (B) Wi
€ feam (D) rfug
56. :;‘:F@aw%aféwwmumhnﬁ
%wmmﬁv
(A) WE@&F&@
(B) 33z Ry
) T 4 e
UL ST

1 LU UILREL LR B B | |”.
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7.

58.

60.

61.

62.

Which of the following space agencies
involved in BepiColombo mission, an
unmanned spacecraft carrying a two probes
into orbit of Mercury 7

(A) ISRO and NASA

(B) European and Japan space agencies
(C) NASA and European space agencies
(D) None of the above

In 1984, which of the following is Haryana's
most famous film whose song is most

popular ?
(A) Dhan Paraya (B) Chandrawal
(C) Lado (D) Lambardar

Beej Bachao Andolan (save the seed) was
initially started in

(A) Bihar

(B) Uuarakhand

(C) West Bengal

(D) Madhya Pradesh

In Narnaul area which State is bordercd
from threc sides ?

(A) Rajasthan

(B) Madhya Pradesh

(C) Punjab

(D) Untar Pradesh

If o means +, p means —, y means X,
6 means < then 308 105 a 10 2018

(A) 3 (B) 15

(MR - (D) 10

A non empty subsel H of a group (G, *) IS

said to be a subgroup if

(A) Hc G

(B) Commutative and associative laws
hold in H

(Cy HceG and (H, *) 1s a group

(D) Noneg of these

=11-

7.

58.

59.

60.

61.

62.

5/2019 (1) (E1)
31 = firer 3 Pt 4 & FA-
st i T 3, T AT T TN
Wﬁﬁﬁqﬁﬁ@ﬁmmﬁﬁm%?
(A) ISRO 3T NASA
(B) giifra i o fefet G
(C) NASA 3l iifirm sffa Rl
(D) I9iA H B FI§ 7

1984 § hamn = wwa dwia e
Frofafia § & S - o, Fress g T
yeieAd & 7
(A) YA 9T
(C) el

st 1ol SR e e U g3 7

(A) faEm
(B) ITEE

(B} d-=Tacd
(D) ©H=EER

(C) 9% =T
(D) TAWE

STt 8 o | i fRe ey <R €T S
e7?

(A) TTeu™

(B) Wed W2W

(C) =

(D) It wew

af o 71 399 +, p T 37d —, y 1 7 x, OF
W - A 30010y5a l0Op208
(A) 3 (B) 15
G 5 (D) 10

T TE (G, ) F i IvEe=a H R, W
ITGE FE ST %, At

(A) Hc G

(B) fatrm dimam=d fafu A 2

(C) Ho G (H, ») THTER

(D) FH A &g Tl
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63,

64.

6S5.

66.

67.

Study the diagram given below to answer
the following question.

X
7

S

B

The triangle in the above figure depicts

women in villages, the square depicts the

unemployed women and the circle depicts
the educated women,

Educated employed women in villages are
represented by

(A) D (B) G

(C) F (D) E

'['I:‘I which year Punjab high court shifted to
Chandigarh ?

(A) 1955

(B) 1958
(C) 1957

(D) 1956

Which one of the following is true with
regard 1o Mahayana cult of Buddhism ?

(A) They refer as greater vehicle

(B) Worship of Buddha's image was an
impartant tradition of this cult

(C) Original followers were called Jower
vehicle

(D) All the above

The district in which should have highest
number of gram sabhas ?

(A) Karmal
(C) Hisar

(B) Gurugram
(D) Panipat

The value of 7 for which the homogeneays
system Je Xk ¥ o ?_:ﬁl—_x'+ly+z=q.
_x-y+A=0hasnon trivial solution i

(A) ~f3 (B) 0

© 3 (D) -3

-11.

(T

63. Freafan S 1 3T F A fag

a1 AT

C_GSD\
2

Fuirm At # frew el # gleens 5
i & | & AU HfETAT F g 2
3R 37 firféra wfeenadl 1 2wiar 2 |

il g AR H e #14- 1 3
zafar & ?

(A) D (B) G
(C) F (D) E
. TFe i G ueE = g S i e
U
(A) 1955 (B) 1958
(C) 1957 (D) 1956
. e W ¥ TR Yy ¥ ey § R e

¥¥R-mEm R ?
(A) &mmmﬁaﬁhmi

(B) =1 o Ny i
T o s

(© v st g e
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8. Indatabase, a relation means o

69

70.

71.

12,

1,

14,

(A) Domain

(B) Table
(€) Tuple (D) Key
X 3 7
If X =-9is aroot of 2 x 2/=0,then
7 6 x|
the other two roots are
(A) =-2,7 (B) -2,-7
(Cy 2,7 (D) 2,-7
EDTAis ___ _ ligand.

(A) Monecdentate
{B) Tetradentule
(C) Hexadentate
(1) Bidentate

In a code language, SOLID is wrilten as
WPSLPIMFHA. What does the code word
ATEXXQIBVO relerwo ?

(A) WATER (B) WAFER

(C) EAGER (D) WAGER

Which of the following plants is established
at Baholi in Panipat ?

(A) Sugar
(C) Qil refinery

(B) Fertilizer
(D) Cement

Intersection of 2 subgroups of a group
(G, *)is

(A) asubgroup of G

(B) group but not a subgroup of G
(C) not asubgroup of G

(D) none of these

Who wrote the book Amuktamalyada ?
(A} Knshnadevaraya

(B) Pulukeshi

(C) Samudragupta

(D) Chandragupta

=-13.

68.

69.

70.

71.

72,

3.

74.

5/2019 (1) (E1)
TEEE §, O wey #1318

(A) A (B) 2=
(C) &= (D)
x 3 7
® |2« 2|-om@ATx=-9F
7 6 X
 gat & e 8
(A) -2,7 B) -2,-7
(©) 2.7 (D) 2.-7
EDTA __ fomee|
(A) T T
(B) =1q: gF
(C) &1 &gH
(D) T ETF

v Ffewa @fwar §, SOLID Ws8 &t
WPSLPIMEHA 3 =7 o @ehedtetm {3
T ¥ | e e Frae wh are # gl
ATEXXQIBVO & 1 Ig == ?

(A) WATER (B) WAFER
(C) EAGER (D) WAGER
U & FEIE] H SHE FEE A 8 7
(A) (B) IaTH

(C) = wiE (D) A=

T ER (G, * ) o 2 IR 1 T #4187
(A) G 1 ITER

(B) &g A G =1 uwmz 7€ 2

(C) G =1 379E 7&1 &

(D) 39 ¥ ®i§ A€

AT (T e e & 7
(A)

(B) et

(C) W=

(D) =FETD
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English Language

Fill in the blanks with suitab]e Preposition

75. Hewashere . week,
(A) on (B) a
(C) in (D) not needed
Fill in the blanks wih dPPropriate word from
the options :
76.  Mr. Miller doesn't like waiting,
(A) keep (B) is kept
(€) kept

(D) being kept
77. You can't g

top me
(A) doing

what I want

(B) that1do
(©) todo (D) do
78, ‘-‘f’uh by a loud nojse during last
night,

(A) woke up (B) wene wiking up
(C) were woken up (D) are woken up
Select one word substitute for the

following ;
79.

"Gain or profi over
Or wages',

(A) perquisite

(C) investment

and above ane’s salary

(B) surplus
(D) tumover
Select the Synonym of the word in capital
80. ZEAL

(A) increase

(C) brave

Choose the part of th
which has an error :

81. Neither of the two men were very strong.
(A) Neither of the (wo
(B) Of the two men were
(C) Of the two men
(D) No error

Choose the correct indirect form of
fellowing sentence from

(B) soft
(D) enthusiasm
¢ following sentence

the

the given Options :

82. He said to me “What are You reading™ 2
(A) He said that what am | reading
(B) He asked me what ] g readin
(C) He asked me what | an readin
(D) He said that what wys | reading
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87,
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89,

90,
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(F) (@) (m) (a) (¥)

A) 3 5 3 3 3

B)3 5 o s 3
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D3 5 3 3 a
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